R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-210\C - Drawings\DR-212 2018 IBC\TX-722.dwg, TX-722

TRINITY GLASS

INTERNATIONAL

60X80
OPAQUE PREMIUM FIBERGLASS
DOUBLE DOOR
INSWING / OUTSWING

"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

This system has been tested and evaluated as a large missile impact protective
system for installation in areas requiring wind-borne debris protection. This product
meets missile level "D" as defined in ASTM E 1996.

Allowable design pressure requirements must be equal o or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET #

DESCRIPTION

1

Typical elevations, design pressures & general notes

Door panel construction details

Horizontal cross sections

Vertical cross sections

Frame anchoring

Components

Endura astragal details

(NN (WIN

Bill of materials

74" MAX. FRAME WIDTH

97.88" MAX. FRAME HEIGHT

u

N

=

53 4

Ex 6 4

I -

o 61 ©

.2 Z a4

™ 'g L

& '(é‘d.— -]

5 o <
Zz 9= 2

2 <2 O

s FT0 =

2 Jo5@Q @
2 >m (7]
17 I g_l
Z0m o

3, gR. &

@ Nt o

X

I Z8° &

e —mo o

2 255 8

[ 50¢ %

& oo g
=

2]

2

c

[

3 =

0

o

CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
80 PREMIUM OPAQUE
PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS
BY

7/27/09 |TDI PRODUCT EVALUATION UPDATE | AL
6/28/06 |REVISED LOCKSET NOMENCLATURE | EW

2/13/20 |UPDATE TO 2018 IBC/IRC

NO., DATE

1

M| N

REVISIONS

ENDURA

INSWING

105.0" x 97.88"

OUTSWING

105.0" x 96.75"

G1

oATE: 11,/21,/05

SCALE:  N.T.S.

DWG. BY:  AEM

CHK. BY: LFS

DRAWING NO.:
TX=722

sHeer 1 oF 8

© 2009 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaiing "Mm"d 6002z @

cmina hASRREE e o Musiancs. STVIG NOLONHISNOD |7 — T Tonlg| [<l,| o

P p—— e M3 | 3INLYIONIWON 13SHO01 d3SIA3H| 90/82/9 | | N2lE|yl .

G6SEE 4 OOUIDA 0SZ Xog O'd \Su@. vV 0 14vd [ v [31vddn NOWVATVAI 10Nd0yd 1dL|60//z// | 2 | 5|'S .N|S

"ONI ‘SINVLINSNOO ONIGTINg S41 081/281 810z 01 31vadn| oz/s1/z] € |\ =| | |2 o 27

INOYdO _WNIN3dd 0,8 —| . |&5l&le ~
SZILYOL# *3'd SvXaL 1INl SSY19 ALINIML wld|e|x|Z &
‘3°d ‘IPIWYDS °4 uopuAk :Ag pespdeusd sjuswnooq 110NA0¥d W 9 M w W =
0222

O

- fv
LN
e ¢.» )

g5 &
gl sl 9
[ I TR P M A Yaeeal -
g1
“

EXTERIOR
LVL
" RAL

m VERTICAL CROSS SECTION

INTERIOR
PVC —

=+
7]
g% w
S
o)
(@]
_!/ ~— 9G] ——
o — Wy
< ) =
o + - = 5
ju s 85u =
2 o s 282 + S
& n c e : =
o 0
s =3 * ti w :
H_ : p
(A N)
Q/, m - ub _.N. l 7‘| ™ :N@.O T@
> ——1 l=—.991'0 = PEl
—= :QQ_..O
m 2661
[
(§) — STl |
4 i
(%) P—
3
= A » WL&0
= T 85 4
= 9 X s s B ! =
= HZ S 5 =
® = 8 S 3 : S
o pa
S (®) !
b
&
V60
~— 96| ——

P
-

SL87T
| 00'67 1]

- >

@)
©)

COMPOSITE CAP
P
36.50" MAX.
PANEL WIDTH ———
W/ ASTRAGAL
35.81" MAX.

PANEL WIDTH
|

"IMPACT"

N

@ PREMIUM OPAQUE DOOR

| ————————

IHOEH TANVd XYW .ST°G6

2 'Bmp'zeL-X1\0dl 8102 ZLz-da\sbuimeiq - D\oLz-y@\sul 4o 1daq sexaL - G\LNINVIANYIJ sse|D Alul\sIusD\Y



R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-210\C - Drawings\DR-212 2018 IBC\TX-722.dwg, 3

NOTE:

1. ltem #63 - #8 x 2-1/4" PFH screws
thru jamb into sidelite located @
6", 27", 50-1/4", & 72-1/8" from top
of frame typ. both side jambs.

DRYWALL \

JL1I11111111110717077°/]

\\-’:‘:‘x\\\l
S ki &lllz
~ IR 9.
SRt S iy
f-‘,;‘?:-‘ H - ‘e,
Sy i T 3
ﬁp\‘: O tm O
o, ¢ O
¢ LL: i : w -~ =z
Ok P W
Py s 1= 1I2\0O
‘) U—"; Lt
XA :O
oY 4, Q0
\2( \(&. s Z :
QY x 9?\
%) wix
VM

MANUFACTURER |

KWIKSET

LOCK: 740
DEADBOLT: 780

INTERIOR

ONNG

1Il

LI1/1171707717

/////' '/ 77

7
I
T
=

/] "A 2
|

EXT. SHEATHING / @ 4

& EXTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

\y Outswing shown
Inswing also approved

q
;
E 22
2\
V8
; o
21
q
23V 4
YNV

/" 2"\ HORIZONTAL CROSS SECTION

W Endura astragal

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

%)
S
W ©
) i
=3 7
RS
)
a O
2= g 8
OS E)l &)
ce @ 2
Z0 o &
= < =
Lo o
l'—}\"qD x|l N
[&] ol &
a S
o El T
& <
[a o
nlal=
qumE
e
=[5
OQ_I—
53
olz|2
%O“EJ
SIS |»
m(D|=Z =z
o3 &
<~ |9
o5 |2
o X >
N[=|O L
o35 |x
I-S"
o
] e
<[
2lslz
52|
(@) (2] 1]
N[O O
NN
RN
5 a
SR
—lo
MmN~ =
OATE: 11/21/05
SCALE: N.T.S.
DWG. BY:  AEM
CHK. BY: LFS
DRAWING NO.:
TX—-722

SHEET 3 oF 8

© 2009 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOJ 9NIging "Mm'sy 6002 @

ZS8LL—4 # NOLLVMLSIO3Y 40 ILVOI4ILN3D g SNOISIATY 3Iva ToNl v
SYIIANIONT TVNOISS340¥d 40 Quvo8 SvxX3al . (V9]
T T —— SNOWOSs ssban) Tvliladi /3 | FUNIVIONINON 1350071 G3siA3d| 90/82/9 | ¢ || vi| & m N r_
SBOCE 14 SOUIDA OSE X68 “6°d \Sv ‘ATBN3ISSY HO 1¥vd | v | 31vddNn NOWYNIYAI 1ONdoNd Idl]60/z2/L] 2 | & M = L |9
"ONI ‘SINVLINSNOD ONIaTINg @. S41 2d1/081 8loz 01 3ivadn| 0z/cL/z| € o B g v_A 4_
ANOVdO _WNIN3dd 0,8 - a|l&|e F
CZLYOLF ‘T'd SWXEL 7Nl SSY19 ALINIML wl S|l &
‘3'd ‘IPIWYDSS 4 Uopuk :Ag pedpdeiq sjuswinoog 110N00Yd W SIE|3& m &=
N A’
;b \_
L'y
................... ZAA LI
NOANAT 2
=1
ixg
L
m
5 O
z
Q O
= 0
oc
Q
15
g ()
Z
= =
o S S
- =
O O /W . Q
L W - w
= 2o “ ol P
Z IS QS
Q|2 O|c
| D a2 5
V(< V|2
3 o 35
g2 o Yo
= =2 oz =|c
e z B
C
| >0 £ >|C
oz
Q
5 ©0
[ Y
O ©
Q &
= 2z
O
O
L
Tln
oz
5 O
Z
QO O
2 0
: (=)
<
z
>
[2°4
o
o o<
@) Q
= = 2% =
= = S
=
\ = 3 ) 3
v o 9|5
a 3 Q|6
Olcsa Qi3
. &lzQ GIE
> O[30 = 0|
3 G 3/°
e SN |25 Y2
——— S =sc =z
/ Ees =2
>02 >0
a4
S o —|< Q ™ (<
Z e v
T b4 H
= o WN
= E W
5 5
. W
5
[RN]

¥ 'BMpzzL-X1\D8l 8102 ZLz-4a\sBuimelq - D\0LZ-4a\su| Jo 3daq sexal - g\LNINVINYI SSe|D ANun\s1ualD\y



‘ON| SINVLINSNOJ 9NIg1ing "‘M's 600z @

Bl & oo 9o oD IE - SIvT ToN
ayvog SvxX3alL k (9]
P —— INIHOHONY INyeld M3_| FYNLIVIONIWON 13SX007 _G3SIATY| 90/82/9 | | || v a2 8_
G6SEE 14 OOUIPA 0£Z X0d ‘O'd \§ "AIBN3SSY ¥0 1¥vd | v |31vddn NOLYNTYAI 10ndodd IdLleo/zz/2 | z |15~ . NS
*ONI ‘SLINV.LINSNOD ONIGliNg @. S41 241/081 810z 01 3ivadn| oz/cL/z| € |\ = g 5_
3NOVAO_WNIN3Yd 0.8 |l E|gle B

CZIVOLE ‘T'd SwEL TAINI SSYT19 ALININL MEIFE 5
‘3'd IPIWIYDS ‘4 UopuA :Ag pepdelq sjuewnooq 110Na0Yd W w 2|5 W M

e~
>
- -

__®

\
\
0]
\
W\
OUTSWING
INSWING

STRIKE PLATE DETAIL
Astragal
; Q ;
i e
)
VIEW B-B
Astragal strike @ sill

s wiP
_ —.6/8T1 g N
[IT]
i
m No=o = ] &
3
&
<
\\
o W
. ('dAL) O'O R o
,ﬂ J XYW .SF _Ar 3
O
5 A.n@
| )
vﬁ — _ _ _ _ _ | — = [Jo]| 3SE
_ - o %
% gk
s h=
= ° 2
Q O
3 2 g
s 0z¢ e \\
> e W\
5 (=X=)
L= ] ~| g
. S I E
= 4 SE=E=E=E====x=========: 4 Yl
— = = — AO
= P =)
_ . | E
HN
» O
2 I
A~ = Q & @
w S <
= e
P 0 - o~
o= , N
= 5 \ /] z
<k \\l v& \11‘_4 ‘““m
— ® Jo
(L)
= _ _ _ _ _ — e g
/ =
= olel
O / / \
NR
25 0 o L ® &
A_ﬁlu Z o< <o Y
o2 = aF e 5
XN < B8
Q= & <84
S wZ O
e Q®
me
23 -
203 « \/\ 2
55 = VA = 5
g o M 5
e =
11 5
®
@ oao\
=
- - - < m
e o o 5 (&
N\\.... ....4;....\\.... =
—| org |~——(dA D0

XYW.9C

SEE HINGE
DETAIL 1
SEE
HINGE
DETAIL 2

§ 'BmpzzL-x1\D81 8102 ZL2-ya\sBuimelq - D\OLz-ya@\sul Jo 3daq sexa] - S\LNINVINYId SSe|D AUl \sIualD\y



"ON| SLNVLINSNOJ aNIging "M's 6002 (@)

ZS8LL—d # NOLVALSIONY 40 3LVOLdILLNID SNOISIASY
SH3IINIONT VNOISSIH0¥d 40 dy¥vo8 Svx3l A8 J1vd [ON]|w
g . [Ve)
SRS REEELE BoN Susyg Hzmzonioo M3 | FYNLIVIONINON 135007 G3SIATY| 90/82/9 | L || v a2 r_
S6SEE “14 OSMIDA 0£Z X08 O'd \Sﬂm&. “\IBN3SSY 0 18¥d | v [31vadn NOILYATvAI Londodd Idi|e0/zz/2 | 2 |||~ ]. N |6
“ONI ‘SINVIINSNOD SNIGIING S47 0d1/08l 8102 0L 3ivadn| 0z/<1/z]| € |\ % e V_A 6_
3NOVd0 WNIW3Yd 0.8 — ElEle ~
nNr.TOF¥ ‘3°'d Svx3al 4L.7: WWSO \ﬁ.:7=N:. i Y 1% ] [
‘3°'d IPIWYDS 4 uopui :Ag pedpdeud sjuswnooqg :19N300dd W w W W W %
:Om._. JAI'A
.H.. -... ..... % o
£ sanor oY :
5 LCINHOS 4 NOGNAT &
D reiespenseceisiiiiiens testeasa seeea s
W\.. _Tx .w.. !C\H .p.. * su.ML ) ] - o
LN Y /\ 5 g By ——
,:.3%. St A € 8 @
L 50 D : N &
Meeanee™ G g
o L &
@ (%] Mﬂ“ (o]
N
W20 e
o : 2
_ <
i — q =
— O
&5
=1
j £

- 8L

SIDE & HEAD JAMBS

4.56"

3

- :mN. _. =

Q07

@ HINGE

o o

.N

ey -

a0 ~r

(o)
(o)
—= ..OO._. [~_-—
a, Q
o o
= =3
< 2
= ac
o =
E o
o & =
ac 2 =
~

g :
Q (@]
O, ®

5.62"

N

4.57"
OUTSWING THRESHOLD

High-dam option

@ INSWING THRESHOLD

@

9 'BmprgeL-X1\D8l 8102 glz-ya\sbuimeld - D\OLz-ya\su| 4o 1daq sexal - G\LNINVINYId Sse|D Anuu\siusiD\y



"ON| SLNVLINSNOJ 9NIaing ‘M 6002 @

<EEod TN 5 i S ETm
O QY¥v08 SvX3l n
P — SUVI3Q WOVHISY  vaNdng M3 | FYNLYIONIWON 13SM007T a3SIATY| 90/8z/9 | | m %) w RN om_
G6GSE 14 OSUIPA 0£Z %08 ‘O'd \Sﬁ&. AIBW3SSY 80 Ldvd | v [31vadn NOWYATVAI 1ondodd 1ai|60/7z/z | ¢ || S|~ | N | &
“ONI ‘SINVLINSNOD ONIdTING S47 0d1/081 810Z 01 3i1vadn| 0z/<1/z| £ |\ < g v_A 7_
3INOVAO _WNIN3Hd 0,8 = |E|E|le =
HN—..YO—‘* ‘I°'d SVX3L 4..._.7: mm5® \r.:ZNWE. ui E 1] < = m
‘I'd “IPIWYDS 4 uopui :Ag pedpdelq sjuewnooq :10NA0dd W QM W w W wu.

WOLLOg

——-I 1.63" [—-—

—~=— 2.50"
3.63"

51 TOP BOLT RETAINER
MATL: 4-3/4" HDPE

. % . =
4050 —

—

10.50"

18.50"

26.50"

33.125"

LATCH (BLIND HOLE)

~—| 1.63" ’——

52 TOP BOLT RETAINER
MATL: 9-3/4" Aluminum

{080 —= —’

o O__ ﬁ :WQ.N

12.875"

ALUMINUM ASTRAGAL

1.75"
®

By Endura Products

lol_Jol

2.50" ——

8'-0" ALUMINUM ASTRAGAL ASSEMBLY
By Endura Products

DEAD BOLT (THRU HOLE)

VIEW A-A
Aluminum Astragal Assembly

26.75"

18.75"

W0€°0 IV_ _ll

A\
A\

: A

B
¢

275" ——

SLIDE BOLT ROD

MATL: Steel

3.75"
10.75"

V-V

L 'BmpzzL-X1\Dgl 8102 zLg-ya\sbuimelq - D\OLz-y@\sul 40 1daq sexa] - Q\LNINVINYId SSe|D AHULL\SIUBID\Y



R:A\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-210\C - Drawings\DR-212 2018 IBC\TX-722.dwg, 8

000y
FeE T
oo K il
- 1
S iEd
B i
51\:‘ Ot
o :%Ew N
L FO S
20 TR
‘(} ' it o
2\1"' 1 Z
2 -(". He)
?*’az‘f/'"'- 12
QS i S b
221{“*352 ??:‘.\-
L1 s aaNe>

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL
A | 2X HEADER FRAMING SG >=0.42 WOOD
B | 2X FRAMING SG >=0.42 WOOD
| ]3/16"X 1-3/4" PFH ITW CONCRETE SCREW STEEL
G | MAX. 1/4" SHIM SPACE WOOD
J | #9X2-1/4"PFH WS STEEL
L | #8 X 3"PFH WS STEEL
P |3/16"X2-3/4"ELCO OR ITW PFH CONCRETE SCREW STEEL
Q |3/16"X 3-1/4" ITW CONCRETE SCREW STEEL
3 | HINGE JAMB - FINGER-JOINT PINE - SG >= 0.42 WOOD
4 [ HEAD - FINGER-JOINT PINE - SG >= 0.42 WOOD
5 | INSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUMINUM
6 [ DOOR BOTTOM SWEEP PVC
7 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
8 |[#6X1-1/4 PFH DRYWALL SCREW STEEL
12 | WEATHER STRIP QEBD650 Q-LON -
18 |3.983" X 4.0" HINGE MIN 0.098" THICK STEEL
19 | SILLKEY PC/ASA
21 | LOCK (SEE LOCK & DEADBOLT RATINGS CHART) STEEL
22 | DEADBOLT (SEE LOCK & DEADBOLT RATINGS CHART) STEEL
23 | STRIKE PLATE STEEL
23A | DEADBOLT PLATE STEEL
24 | #9 X 5/8" PFH WS STEEL
25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP.
26 |#9 X 1.0"PFH WS STEEL
27 | OUTSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP.
30 [LATCH STILE - SG >=0.42 LVL/PVC
32 |HINGE STILE - SG >=0.42 LVL/PVC
33 [ TOP RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC
34 | BOTTOM RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC
39 | FIBERGLASS SKIN 0.079" MIN. THICKNESS FIBERGLASS
46 | DOOR PANEL CORE FOAMED POLYURETHANE
51 | 4-3/4" LENGTH TOP BOLT RETAINER HDPE
52 | 9-8/4" LENGTH TOP BOLT RETAINER ALUMINUM
53 | #8 X 1-3/4" PFH SMS STEEL
54 | ASTRAGAL STRIKE @ HEAD STEEL
55 | ENDURA ASTRAGAL BY ENDURA PRODUCTS ALUMINUM
56 | ASTRAGAL STRIKE @ SILL STEEL
57 | SLIDE BOLT ROD STEEL
64 | #8x2"PFH WS STEEL
65 | #10x2" PFH WS STEEL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

wood screws to prevent the splitting of wood.

e "
=3 <
= &
n© LJ
9 <
33 |3 =
°s 3| o
e | ©
o B —
LEo |9 &
57 g
= o
S E
& &
o=l
A=
8 =
5|13
olz[2
Loy
NEER%
a3 |2
oS5 3
~ @l |2
o X >
N B O (]
CONCRETE ANCHOR NOTES: SRS

. Concrete anchor locations at the corners may be adjusted to maintain the min. w28
edge distance to mortar joints. Elx L@'

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to =y
maintain the min. edge distance to mortar joints, additional concrete anchors S
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. USIS

: NNNE

. Concrete anchor table: mINISlE

SRRP
e
ITW BUILDEX " DATE: 11,/21/05
® 1 1_3 L " L
TAPCON / / a 4 SCALE:  N.T.S.
ELCO " " " " DWG. BY:
uitRacon® | /4 1-3/4 1 4 i
CHK. BY: LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of TX—=722

SHEET 8 oF 8

© 2009 R.W. BUILDING CONSULTANTS INC.



